2 11/2" #8x2 [M4x50] SELF-TAPPING SHEET
51mm] | [38mm] | METAL SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK061)

(N r -
) DRYWALL (BY OTHERS
L /— ( )

58"
m [16mm]
1] (

T

} [47mm]

SPECIFY SEAL COLOR:

31/2"
[89mm]

CONT. ALUM. RECESSED
FRAME (J2A001)

CONT. SANTOPRENE SEAL

CONT. ALUM. FLUSH HALF
PLATE (J2C010-CA)

Black (J1D101) 221-A09-050

Beige (J1D102) MOVEMENT %

AV JOINT WIDTH .

S;fgmhmi(tgg}gﬁ)os) HORIZONTAL | VERTICAL

Greige (J1D106) usS mm us mm us mm

2" 51 1/2" 13 1/4" 6
FINISH: ALUM. FINISH-CLEAR ANODIZED
PROJECT: APPLICATION DATE: 03-08-17 .
CUSTOMER: WALL/CORNER-WALL/CEILING CONDITION SCALE: 1:2 ln r o
FLUSH PLATE ®

LOCATION: DOC: CADJM.150/R7

For More Information Visit: Inprocorp.com




SPECIFY SEAL COLOR:
Black (J1D151)
Beige (J1D152)
Gray (J1D153)
Off White (J1D154)
Bright White (J1D155)
Greige (J1D156)

3" 3 1/4"
76 82 #8x2 [M4x50] SELF-TAPPING
L7omml (zmm] / SHEET METAL SCREW (7 PER
FRAME @ 18" [457mm] O.C.)
N " /WL (JK061)
N DRYWALL (BY OTHERS)
5/8"
o i[mmm]
- J 113/16"
R [45mm]
) CONT. ALUM. RECESSED FRAME
— (J2A015)
CONT. SANTOPRENE SEAL
CONT. ALUM. FLUSH HALF PLATE
(J2C011-CA)
6 3/16"
[158mm]
221-A09-075
MOVEMENT =+
JOINT WIDTH HORIZONTAL | VERTICAL
us mm us mm us mm
3" 76 3/4" 19 3/8" 10

FINISH: ALUM. FINISH-CLEAR ANODIZED

PROJECT:

CUSTOMER:

LOCATION:

APPLICATION

WALL/CORNER-WALL/CEILING CONDITION

FLUSH PLATE

DATE: 03-08-17

SCALE: 1:2

iInpro.

For More Information Visit: Inprocorp.com

DOC: CADJM.150/R7




2 11/2" #8x2 [M4x50] SELF-TAPPING SHEET
51mm] | [38mm] | METAL SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK061)

(N r -
) DRYWALL (BY OTHERS
L /— ( )

58"
m [16mm]
1] (

T

} [47mm]

SPECIFY SEAL COLOR:

31/2"
[89mm]

CONT. ALUM. RECESSED
FRAME (J2A001)

CONT. SANTOPRENE SEAL

CONT. ALUM. FLUSH HALF
PLATE (J2C010-CA)

Black (J1D101) 221-A09-050

Beige (J1D102) MOVEMENT %

AV JOINT WIDTH .

S;fgmhmi(tgg}gﬁ)os) HORIZONTAL | VERTICAL

Greige (J1D106) usS mm us mm us mm

2" 51 1/2" 13 1/4" 6
FINISH: ALUM. FINISH-CLEAR ANODIZED
PROJECT: APPLICATION DATE: 03-08-17 .
CUSTOMER: WALL/CORNER-WALL/CEILING CONDITION SCALE: 1:2 ln r o
FLUSH PLATE ®

LOCATION: DOC: CADJM.150/R7

For More Information Visit: Inprocorp.com




6" 211/16"
(152mm] (69mm] #8x2 [M4x50] SELF-TAPPING SHEET
/ METAL SCREW (7 PER FRAME @ 18"
[457mm] O.C.) (JK061)
/\/ N /
! DRYWALL (BY OTHERS)
_ 5/8"
[16mm]
13/4" \
[44mm]
— L CONT. ALUM. RECESSED FRAME
(J2A015)
\ CONT. SANTOPRENE SEAL
8 11/16" CONT. ALUM. FLUSH HALF PLATE
[221mm] (J2C012-FCA)
SPECIFY SEAL COLOR:

Black (J1D201)

Beige (J1D202) 221 'A09'1 50

Gray (JTD203) MOVEMENT #

OFf White (J1D204) JOINT WIDTH =

Bright White (J1D205) HORIZONTAL | VERTICAL

Greige (J1D206) us mm us mm us mm

6" 152 | 11/2" 38 3/4" 19
FINISH: ALUM. FINISH-CLEAR ANODIZED
PROJECT: DATE: 03-08-17 )
APPLICATION

CUSTOMER: WALL/CORNER-WALL/CEILING CONDITION SCALE: 1:2 lnproo
LOCATION: FLUSH PLATE DOC: CADJM.150/R7

For More Information Visit: Inprocorp.com




PRE-ATTACHED COMPRESSION
SPRING ASSEMBLE (7 PER SPRING)
(J4J001-INJCA)

STEEL CENTERING BAR (7 PER
PLATE @ 18" (457mm) O.C.)

(J4J012-W1) 8"
[203mm] "
CONT. ALUM. FLUSH [1%] gr/fm]* #8x2 [M4x50] SELF-TAPPING SHEET
WALL FRAME (J3A200) METAL SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK061)
‘= / DRYWALL (BY OTHERS)
. _~— z@m%l PRART
CENTER PLATE HINGED // 5/8" J
END FRAME (J2E003) [/ [16mm]
1/4"-20 X 5/8" PHILLIPS FLAT HEAD / Es A’\',\;EA(EZJ%O(;)ENTER'NG BAR
MACHINE SCREW (JK057) /_h CONT. SANTOPRENE SEAL
1/4"-20 X 1 1/2" HEX HEAD CAP " '
SCREW (JK112) 12 3/8 CONT. ALUM. RECESSED FRAME
[314mm] (J2A015)

MACHINE SCREW (7 PER PLATE @ 18" (J2C190-FW)

[457mm] O.C.) (JK178)

SPECIFY SEAL COLOR:
Black (J1D201) 221-A09-200
Beige (J1D202)
Gray (J1D203) JOINT WIDTH MOVEMENT +
gff \ﬁVh\}th] (J1(EJ>1234;>0 : HORIZONTAL | VERTICAL
right White 5
Greige (J1D206) U? mm U? mm U? mm
8 203 2 51 1 25
FINISH: ALUM. FINISH-CLEAR ANODIZED
PROJECT: DATE: 03-08-17
APPLICATION

CUSTOMER:

LOCATION:

WALL/CORNER-WALL/CEILING CONDITION
FLUSH PLATE

SCALE: 1:4

inpro.

For More Information Visit: Inprocorp.com

DOC: CADJM.150/R7




PRE-ATTACHED COMPRESSION
SPRING ASSEMBLE (7 PER
SPRING) (J4J001-INJCA)

STEEL CENTERING BAR (7 PER
PLATE @ 18" (457mm) O.C.)
(J4J018-W1)

10" 47/16"

CONT. ALUM. FLUSH
WALL FRAME (J3A200)

CENTER PLATE HINGED —}
END FRAME (J2E003) |/

1/4"-20 X 5/8" PHILLIPS FLAT
HEAD MACHINE SCREW =

(JK037) /
1/4"-20 X 1 1/2" HEX HEAD CAP

[254mm] [113mm]

ﬂ

#8x2 [M4x50] SELF-TAPPING SHEET
METAL SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK061)

DRYWALL (BY OTHERS)

¢

/
—Z N 4’

X
\
N

58" |

[16mm]

CONT. ALUM. CENTERING BAR
FRAME (J2A007)

CONT. SANTOPRENE SEAL
CONT. ALUM. RECESSED FRAME

SCREW (JK112) / 13%;/16" (J2A015)
1/4"-20 X 3" PHILLIPS FLAT HEAD [367mml CONT. ALUM. FLUSH PLATE
MACHINE SCREW (7 PER PLATE (J2C191-FW)
@ 18" [457mm] O.C.) (JK178)
SPECIFY SEAL COLOR:
Black (J1D201) 22 1 —A09—250
Beige (J1D202) MOVEMENT T
Gray (J1D203) +
g:gmh\xli i(ti1(|312(|;‘;)05) JOINT WIDTH HORIZONTAL | VERTICAL
Greige (J1D206) Us mm Us mm us mm
10" 254 | 2-1/2"] 64 [ 11/4"] 32
FINISH: ALUM. FINISH-CLEAR ANODIZED
PROJECT: DATE: 03-08-17
APPLICATION
CUSTOMER: WALL/CORNER-WALL/CEILING CONDITION SCALE: 1:4

LOCATION:

FLUSH PLATE

inpro.

For More Information Visit: Inprocorp.com

DOC: CADJM.150/R7




PRE-ATTACHED
COMPRESSION SPRING
ASSEMBLE (7 PER SPRING)
(J4J001-INJCA)

STEEL CENTERING BAR (7
PER PLATE @ 18" (457mm)
0.C.) (J4J018-W1)

CONT. ALUM. FLUSH
WALL FRAME (J3A200)

12" 4 15/16"

[305mm]

[126mm]

#8x2 [M4x50] SELF-TAPPING
SHEET METAL SCREW (7 PER
FRAME @ 18" [457mm] O.C.)
(JK061)

J}é ; DRYWALL (BY OTHERS)
—r~— g C
CENTER PLATE HINGED —1" 5/8" j
END FRAME (J2E003) | [16mm]
1/4"-20 X 5/8" PHILLIPS FLAT —/}*
HEAD MACHINE SCREW | CONT. ALUM. CENTERING BAR
(JK037) / FRAME (J2A007)
1/4"-20 X 1 1/2" HEX HEAD CAP CONT. SANTOPRENE SEAL
SCREW (JK112) 16 15/16"

1/4"-20 X 3" PHILLIPS FLAT _/ [431mm] CONT. ALUM. RECESSED FRAME

HEAD MACHINE SCREW (7 (J2A015)

PER PLATE @ 18" [457mm]

0.C.) (JK178) (CSJ(Z)(’\:TQ;ILZVVI\;I FLUSH PLATE
SPECIFY SEAL COLOR:
Black (J1D201) 221 -A09'300
Beige (J1D202)
Gray (JTD203) JOINT WIDTH MOVEMENT +
gﬁ \:]Vh\xt/i (“(EI?OD;)O ) HORIZONTAL | VERTICAL
right White 5
Greige (J1D206) US“ mm U? mm us _ mm
12 304 3 76 11/2 38
FINISH: ALUM. FINISH-CLEAR ANODIZED
PROJECT: DATE: 03-08-17
APPLICATION

CUSTOMER:

LOCATION:

WALL/CORNER-WALL/CEILING CONDITION
FLUSH PLATE

SCALE:

DOC: CADJM.150/R7

1 inpro.

For More Information Visit: Inprocorp.com




PRE-ATTACHED
COMPRESSION SPRING
ASSEMBLE (7 PER SPRING)
(J4J001-INJCA)

STEEL CENTERING BAR (7 PER
PLATE @ 18" (457mm) O.C.)

14" 6 3/16" /
[356mm] [157mm] (J4J024-FW1)
#8x2 [M4x50] SELF-TAPPING SHEET
1 METAL SCREW (7 PER FRAME @ 18"
L [457mm] O.C.) (JK061)
I / ~ DRYWALL (BY
g - m H / OTHERS)
CONT. ALUM. / @ e
FLUSH WALL
FRAME (J3A200) /
CENTER PLATE :'j; CONT. ALUM. CENTERING BAR
HINGED END = FRAME (J2A007)
FRAME (J2E003) 20 3/16" CONT. SANTOPRENE SEAL
1/4"-20 X 5/8" [513mm] CONT. ALUM. RECESSED FRAME
PHILLIPS FLAT (J2A015)
HEAD MACHINE
SCREW (JK037) CONT. ALUM. FLUSH PLATE
(J2C193-FW)
1/4"-20 X 1 1/2" ) )
HEX HEAD CAP 1/4"-20 X 3" PHILLIPS FLAT HEAD
SCREW (JK112) MACHINE SCREW (7 PER PLATE
S —— @ 18" [457mm] O.C.) (JK178)
PECIFY SEAL LOR:
Black (J1D201) 221 —A09—350
s MOVEMENT
ray (J1D203 T
g:g\mh\i/:/?] i(tggfg?os) JOINT WIDTH HORIZONTAL | VERTICAL
Greige (J1D206) us mm US mm us mm
14" 356 | 31/2" 89 |21/4"| 57
FINISH: ALUM. FINISH-CLEAR ANODIZED
PROJECT: DATE: 03-08-17
APPLICATION

CUSTOMER:

LOCATION:

RECESSED WALL/WALL-CEILING/CEILING CONDITION

W/DUAL SEALS-FLUSH PLATE

SCALE:

DOC: CADJM.150/R7

1 Inpro.

For More Information Visit: Inprocorp.com




CONT. ALUM. —T £

FLUSH WALL
FRAME (J3A200)

CENTER PLATE /

6 11/16"

PRE-ATTACHED
COMPRESSION SPRING
ASSEMBLE (7 PER SPRING)
(J4J001-INJCA)

STEEL CENTERING BAR (7 PER
PLATE @ 18" (457mm) O.C.)
(J4J024-FW1)

_— #8x2 [M4x50] SELF-TAPPING
SHEET METAL SCREW (7 PER
FRAME @ 18" [457mm] O.C.)
(JK061)

DRYWALL (BY OTHERS)

HINGED END

FRAME (J2E003) /

1/4"-20 X 5/8"

PHILLIPS FLAT
HEAD MACHINE
SCREW (JK037)

1/4"-20 X 1 1/2" HEX
HEAD CAP SCREW
(JK112)

SPECIFY SEAL COLOR:
Black (J1D201)
Beige (J1D202)
Gray (J1D203)
Off White (J1D204)
Bright White (J1D205)
Greige (J1D206)

FINISH: ALUM. FINISH-CLEAR ANODIZED

CONT. ALUM. CENTERING BAR
FRAME (J2A007)

CONT. SANTOPRENE SEAL

CONT. ALUM. RECESSED FRAME

(J2A015)

CONT. ALUM. FLUSH PLATE
(J2C194-FW)

1/4"-20 X 3" PHILLIPS FLAT
HEAD MACHINE SCREW (7
PER PLATE @ 18" [457mm]
0.C.) (JK178)

[406mm] / [170mm]
¥ 1 M % H
22 11/16"
[577mm]
221-A09-400
MOVEMENT =

JOINT WIDTH HORIZONTAL | VERTICAL

Uus mm us mm us mm

16" 406 4" 102 [ 21/4"| 57

PROJECT:

CUSTOMER:

LOCATION:

RECESSED WALL/WALL-CEILING/CEILING CONDITION
W/DUAL SEALS-FLUSH PLATE

APPLICATION

DATE: 03-08-17

= NPro.

DOC: CADJM.150/R7

For More Information Visit: Inprocorp.com




CONT. ALUM.
FLUSH WALL
FRAME
(J3A200)

—t

CENTER —T-
PLATE |
HINGED END
FRAME
(J2E003)

1/4"-20 X 5/8" J

18"

6 7/16"

[457mm]

[164mm]

J

1.

/_

\\

]

PRE-ATTACHED
COMPRESSION SPRING
ASSEMBLE (7 PER SPRING)
(J4J001-INJCA)

__— STEEL CENTERING BAR (7
— PERPLATE @ 18" (457mm)
C.) (J4J030-FW1)

#8x2 [M4x50] SELF-TAPPING
SHEET METAL SCREW (7 PER
FRAME @ 18" [457mm] O.C.)
(JK061)

DRYWALL (BY OTHERS)

CONT. ALUM. CENTERING
BAR FRAME (J2A007)

LOCATION:

W/DUAL SEALS-FLUSH PLATE

DOC: CADJM.150/R7

24 7/16" CONT. SANTOPRENE SEAL
PHILLIPS FLAT [621mm]
HEAD CONT. ALUM. RECESSED
MACHINE FRAME (J2A015)
SCREW (JK037) CONT. ALUM. FLUSH
HEX HEAD CAP 1/4"-20 X 3" PHILLIPS FLAT
SCREW (JK112) HEAD MACHINE SCREW (7
SPECIFY SEAL COLOR: 221-A09-450 PER PLATE @ 18" [457mm]
Black (J1D201) 0.C.) (JK178)
Beige (J1D202) JOINT WIDTH MOVEMENT =+
g;?\zv(rfizf(%%zo 5 HORIZONTAL | VERTICAL
Bright White (J1D205) US mm US mm UsS mm
Greige (J1D206) 18" 457 141/2"] 115 [ 21/4" 57
FINISH: ALUM. FINISH-CLEAR ANODIZED
PROJECT: DATE: 03-08-17 )
APPLICATION
CUSTOMER: RECESSED WALL/WALL-CEILING/CEILING CONDITION SCALE: 1:4 'nprOo

For More Information Visit: Inprocorp.com




	221-A09-050.pdf
	Sheets and Views
	Model


	221-A09-075.pdf
	Sheets and Views
	Model


	221-A09-100.pdf
	Sheets and Views
	Model


	221-A09-150.pdf
	Sheets and Views
	Model


	221-A09-200.pdf
	Sheets and Views
	Model


	221-A09-250.pdf
	Sheets and Views
	Model


	221-A09-300.pdf
	Sheets and Views
	Model


	221-A09-350.pdf
	Sheets and Views
	Model


	221-A09-400.pdf
	Sheets and Views
	Model


	221-A09-450.pdf
	Sheets and Views
	Model



